ZoarbLOftEm
SYUTiEO— FENE . ‘
O— Rk R kL0000 SR> R

O—kKS

{H#% & 52401 D () Tl jp.omega.com/load_acc_metricZ CE < /& ()
HE :mm (€ 2F)
BE, e H T D F R
MLBC-M6 M6 x 1.0 12.7 5.1 15.2 12.7 50.8
(0:50) (0.20) (0.60) | (0'30) | (2.00)
MLBC-M8 M8 x 1.25 12.7 5.1 15.2 12.7 50.8
(050) (0.20) (0.60) | (0:50) | (2.00) E—
MLBC-M10 M10x 1.5 15.2 7.6 19.1 15.9 50.8
(0.60) (0.30) (0.75)| (0.63) | (2.00)
MLBC-M12 M12 x 1.75 17.8 7.6 19.1 15.9 102
(0.70) (0.30) (0.75) | (0.63) | (4.02)
MLBC-M16 M16 x 2.0 22.9 7.6 38.1 31.8 127
(0.90) (0.30) (1.50) | (1.35) | (5.00)
MLBC-M20 M20 x 1.5 22.9 7.6 38.1 31.8 127
(0.90) (0.30) (150) | (1.25) | (5.00)
MLBC-M24 M24 x 2.0 27.9 7.6 38.1 31.8 203
(1.10) (0.30) (150) | (1.25) | (8.00)
MLBC-M36 M36 x 2.0 57.2 25.4 63.5 57.2 356
(2.25) (1.00) (2'50) | (2.35) | (14.02)
O— KRRy UtiE D
EE
I
759k L J, ?
— K va: ARBARIH—
O-keboATa> Boerioss
(FREETINDH PTOGATOS (SF)
BEEE ¥IE/BRIE
“TC1” IR AEEHEE (-46~93°C/-50~200°F) “NC5” 57/-4//432‘12 0%, 50%. 100%. 50%.
(BERAEEA LY 0% BMDF + U F—2 5281 > F
“TC2” 163°C (350°F) RET T
EBMT—7IVDORE : 0~5 Vdc
4 ., = ~
; A4 F7 07
gggg;{g&' ARG T—HY— t;(/._jaFﬂ'Abt%f &0
1% & WA IC D t\’('li HRE =Y —EXICHR
Oy RITVF gbtiran
{Hi#% & 52401 D () Tl jp.omega.com/load_acc_metricZE ZE< 7= () Fi& : mm (€ 2 F)
. B
*AE . Y a8H
Oy RIVE | #4X B w H A D c a| K [J| (b)
MREC-M5M | M5x0.8 | 5(0.197) | 8(0.315) | 6.25(0.246) | 33(1.300) | 16(0.630) | 20(0.787) | 14 | — |— | 12,611
MREC-M6M | M6x10 | 6(0236) | 9(0.354) | 7(0.275) | 36(1.417) | 19(0.748) | 22(0.866) |13 | — |— | 17,720
MREC-M8M | M8x 125 | 8(0.315) | 12(0.472) | 8.75(0.344) | 42 (1.653) [22.25(0.876) | 25(0.984) |18 | — |— | 33,135
MREC-M10M | M10x15 |10(0.394) | 14(0.551) | 10.5(0.413) | 48(1.990) |27 (1.063) | 29(1.142) |17 | — |— | 50,227
MREC-M12M |Mi2x1.75 |12(0472) | 16(0.630) | 12(0.472) | 54 (2.126) |30(1.181) | 33(1.300) |17 | — |— | 44,490
MREC-M16M | M16x20 |16 (0.630) | 21(0.826) | 14.25(0561) | 66 (2.598) | 38 (1.496) | 40(1.575) |23 | — |— | 76,291
MREC-M20M | M20x15 |20(0.787) | 25(0.984) | 18(0.709) | 78 (3.071) | 46(1.811) | 47(1.850) |20 | — |— |120,212
MREC-M24M | M24x2.0 |25(0.984) | 31(1.220) | 22(0.866) | 95(3.740) | 60(2.362) | 57 (2.244) |19 | — |— | 251,780
XABOy RIVF
MREC-M5F | M5x0.8 | 5(0.197) | 8(0.315) | 6.25(0.246) | 27 (1.063) | 16(0.630) | 14(0.551) | 14| 11 | 9 | 16,396
MREC-M6F | M6x1.0 | 6(0.236) | 9(0.354) | 7(0.275) | 30(1.181) | 19(0.748) | 14(0.551) |13 | 13 |11 | 25,781
MREC-M10F | M10x15 |10(0.394) | 14(0.551) | 10.5(0.413) | 43(1.693) |27 (1.063) | 21(0.827) |17 | 19 |17 | 50,227
MREC-M12F |M12x1.75 |12(0.472) | 16(0.630) | 12(0.472) | 50(1.968) |30 (1.181) | 24(0.945) | 17 | 22 |19 | 44,490
MREC-M20F | M20x15 |20(0.787) | 25(0.984) | 18(0.709) | 77 (3.031) | 46(1.811) | 40(1.575) |20 | 34 |30 120,212

F-23



